Квасников Александр Андреевич 06-УФФо-1И. Контрольная работа №3, Вариант №7

Задача №1
Листинг программы:

domains

list=integer*

predicates

удалить_нулевые(integer,list,list)

clauses

удалить_нулевые(_,[],[]).

удалить_нулевые(X,[X|T],T1):-удалить_нулевые(X,T,T1).

удалить_нулевые(X,[Y|T],[Y|T1]):-X<>Y,удалить_нулевые(X,T,T1).

goal

удалить_нулевые(0,[1,2,5,0,4,0,6,0,0,2,1],L).
Запрос и ответ:
удалить_нулевые(0,[1,2,5,0,4,0,6,0,0,2,1],L).
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Задача №2

Листинг программы:

domains

list=integer*

predicates

разбить(list,list,list)

clauses

разбить([],[],[]).

разбить([X|L],[X|L1],L2):-X>=0,разбить(L,L1,L2).

разбить([X|L],L1,[X|L2]):-X<0,разбить(L,L1,L2).

goal

разбить([2,3,-4,0,-1,-3,6,8,-5],Положительные,Отрицательные).

Запрос и ответ:
разбить([2,3,-4,0,-1,-3,6,8,-5],Положительные,Отрицательные).
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Задача №3

Листинг программы:

domains

list=integer*

predicates

сдвиг(list,list)

конк(list,list,list)

clauses

конк([],L,L).

конк([H|T],L,[H|L1]):-конк(T,L,L1).

сдвиг([],[]).

сдвиг([H|T],L):-конк(T,[H],L).

goal

сдвиг([1,2,3,4,5],Сдвинутый_список).

Запрос и ответ:
сдвиг([1,2,3,4,5],Сдвинутый_список).
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